REFEOPITRIL 1. REBTH TKEREMEE (20 3)  (FEAFHH)
(AL - BHH)
R2 R3 R4 R5 R6

Bl r%E (a) 165. 000 385. 000 305. 000 398. 700 550. 800
FHE A ARER (b) 6. 000 2. 000 4. 050 0. 000 0. 000
ZAI4E (c=atb) 171. 000 387. 000 309. 050 398. 700 550. 800
ATAEEE D> & OFEER (d) 0. 000 0. 000 17. 742 0. 000 0. 000
SCHNEEEE (o) 171. 000 369. 258 326. 792 398. 700 550. 800
BUFRCMREVER () 0. 000 17. 742 0. 000 0. 000 0. 000

9 HAREKMER () 0. 000 0. 000 0. 000 0. 000 0. 000

FH%E (h = ctd—e—f) 0. 000 0. 000 0. 000 0. 000 0. 000
R+ R (h = (g+h) /(c+d)) 0. 000 0. 000 0. 000 0. 000 0. 000
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AT @EOBITRIL 2. RETT FAKERGE (T 3)  (EAGHE) (55 - 28)
(B . /)

R2 R3 R4 R5 R6
floga (a) - 58. 500 45. 000 81. 900 36. 500
AT AJREE (b) - 0. 000 0. 000 0. 000 0. 000
ZASER (c=atb) - 58. 500 45. 000 81. 900 36. 500
ATAEEE DN B OFEEER (d) - 0. 000 32. 419 43. 327 24. 860
SELERR (e) - 26. 081 34. 092 100. 367 61. 360
VAR MR (D) - 32. 419 43. 327 24. 860 0. 000
o AR (2) - 0. 000 0. 000 0. 000 0. 000
AHE (h = ctd-e-1) - 0. 000 0. 000 0. 000 0. 000
KK+ R (h = (g+h) /(c+d)) - 0. 000 0. 000 0. 000 0. 000
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